- £v 3) 40 minutes

=0
3

. (3) 159 kHz

@m0

(@) 4m (4) 8mJ

The half life of a radioactive whstam?c.is
20 minutes. In how much time, the activity
of substance drops to [—,—‘5]" of its initial
value? . :
(1) 80 minutes” (2) 20 minutes
(4) 60 minutes

The temperature of a gas is —50° C. To what
temperature the gas should be heated so that
the rms speed is increased by 3 times?
(1) 223K (2) 669°C

(3) 3295° C (4) 3097 K

The ratio of frequencies of fundamental
harmonic produced by an open pipe to that
of closed pipe having the same length is :
(n 3:1 ) 1:2
3) 2:1 (4) 1:3

In a series LCR circuit, the inductance [ is
10 mH, capacitance C is 1 pF and resistance
R 15 100 Q. The frequency at which resonance
occurs is :

(1) 1.59 kHz (2) 15.9 rad/s

(@) 1.59 rad/s

In hydrogen spectrum, the shortest
-wavelength in the Balmer series is 3. The

shortest wavelength in the Bracket series is :
(1) 2 2

Due to decrease in its ¢

(1) capacitive reactance remains
(2) capacitive reactance €

(3) displacement current e
(4) displacement current decreases.

The errors in the measurement whj_ch ari_se- |
due to unpredictable fluctuations 10
temperature and voltage supply are :

(1) Random errors

(2) Instrumental errors

(3) Personal errors

(4) Least count errors

If the galvanometer G does not show any
deflection in the circuit shown, the value of
R is given by :

+
10 V—

(1) 4000 H(2) 2000

(3) s0Q @) 1000

The potential energy of a lon i

_ g spring when
stretch:: by 2 cm is U. If the spring is
stretched by 8 cm, potential energy stored
in it will be g
(1) 1o
(3) 44

(2 2U
(4) 8U




_ %Pf ‘the above statements, choose
riate answer from the

(1) The principle of per
(2) Huygen’s principle
(3) Bemoulli’s principle
(4) The principle of paralle

Resistance of a carbon re
from colour codes is (:




m_ of Caesium (Cs),
‘Sodium (Na) are 2.14 eV,

<V respectively. If incident
agnetic radiation has an incident
~of 220eV, which of these
* ph osunsmve surfaces may emit

(1) Na Dnls'
(2) Cs only
(3) Both Na and K
(4) K only

A football player is moving southward and
mtldenlf

on the dipole, if the dipole len;
M2mC . (2 EmE
(3) 6 mC (4) 4 mC

If @E-E’s-o over a surface, then : '
- i

(1) the electric field inside
nwemﬁty uniform.




Statement 1 and Statement II
- (3) Both Statement I and Statement IT
~ are false. _
(4) Statement I is true but Statement I1

is false. :
The magnitude and direction of the current
in the following circuit is
10V 5V

220 10Q
A -—wvw—II—E—h-—-Nva—— B
i D —AAAA— &
70

- (1) 1.5A from B to A through £
(2 02 A fromBtoA through E
3) 0.5 A from A to B through E

[TOII Am B thrﬂugh E

radius of gyration of a solid
M and radius R about its
radius of gyration of the
of same mass and radius

B (@ 3:5
B @ 25
amp is connected to the
ed to ac mains of 220 V.
.|‘.1_- mer to M ideal’ what

2) 027 A

: @) 37A

33

34

35

(rigid support) and stretched by a weight W
attached at its free end. The longitudinal
stress at any point of cross-sectional area A

of the wire is :
(1) Zero

(3) wj4

(2) 2[4
@) Ww[2A4

A Carnot engine has an efficiency of 50%
when its source is at a temperature 327° C.
The temperature of the sink is :

(1) 200° C @) 27°C
(3) 15°C (4) 100° C

A metal wire has mass (0.4 +0.002) g, radius
(03+0.001) mm and length (5+002) cm.
The maximum possible percentage error in 9
the measurement of density will nearly be:
(1) 1.4% (2) 12% K
(3) 1.3% 4) 1.6%

In a plane electromagnetic wavetﬁvdlingin
free space, the electric field component
oscillates sinusoidally at a frequency of 2

2.0x10'°Hz and amplitude 48 vm™. Thenthe
amplitude of oscillating magnetic field is:
(Speed of light in free space =3 x 1081
(1) 1.6x107°T 0
(3) 16x10°T




. a‘di’recthnﬁefnre
‘exactly at the other end of
! ,_Thepgnliengtlmfthgblunku

cm (2) 27 em
=4 , (4) 28 cm

ln t]le figure shown here, what is the |

% uivalent focal length of the combination
lenses (Assurde that all layers are thin)?

nl--ls

: :ﬂ2=l.ﬁ
(1) -50 cm (2) 40 cm
(3) =40 cm (4) - 100 cm

i-B A horizontal bridge is built across a river,
A student standing on the bridge throws a
small ball vertically upwards with a velocity

 4ms!. The ball strikes the water surface
after 4 s. The height of bridge above water

y surface is (Take g=10ms™2) .
' (1) 68m (2) 56m
(3) 60m (4) 64m

!‘- The x-t graph of a particle performing simple
~ harmonic motion is shown in the figure. The
aweleraunnufthc particle at r=2 s is :

| 41

42

T
&

@ 7

'I‘henetlm;:edancenfcmut(ﬂ -
figure) will be : -

\ ; y

(1) 25Q
(3) 15Q

2) 10v20
4 s5a

The radius of inner most orbit of hydrogen

e u-..

atom is 5.3x107 ! m. Whatlsﬂlemdms f'
third allowed orbit of hydrogen atom?

(1) 477A (2) 053A

(3) 1.06 A (4) 1.59A

An electric d:pnle is placed as shown in the '

figure. .
o '-'Ju"

- - b - - .
—?"!—3 om }1&3 >+gq :
The electric potentml {m 102 V) at point P

P

Scm

ﬁm{




e the maximum acceleration of a
ag car so that a body lying on the floor
of the car remains stationary. The coefficient
of static friction between the body and the
floor is 0.15 (g=10ms2).

(1) soms™ ) 12ms>

(3) 150ms™ 4) 15ms™

Two thin lenses are of same focal lengths
(), but one is convex and the other one is
concave. When they are placed in contact
with each other, the equivalent focal length
of the combination will be :

(1) Infinite (2) Zero

3 s/4 ) 1/2

ery long conducting wire is bent in a
smi-circula shape from A to B as shown in
jgure. The magnetic field at point P for
ady current configuration is given by :

=
> A

I &
A

-

mi ""'% pointed into the page
'I-.-_r ”:‘D the page
0 M .--_:_ e ” M “‘ w

J""""wmw

LS f
(1) 1000 A (2) 10
(3) 100 @ 1

o

49 For the following logic circuit, the truth table

150

(1) 4 B Y 2 4 B Y ;
0 0 0 0o 0 1 r
0100 g 9 p
1 0 0 S T | A
{ + 4% 3. 3 0 A

Yok ‘B F 4 4 B Y
0 0 0 0 01
810 e 1 0
1 0 1 -0 )
1+ 4 1 e W)

80 The resistance of platinum wire at 0°C is
20 and 6380 at 80°C, The emperature
coeflicient of resistance of the wire is:

(1) 3x10°! oc!
(2) =10 oC-!
(3) =107 °C!

(4) 3%102 oC)



eight

in its outer most'shell, is
ICl;, BeCl,, CCl,, Pcfl;‘::.
2 3
@1 S
@

?& %e correct order of energies of molecular
~ orbitals of N, molecule, is :

(1) ols<c’Is<o2s<o’ 25-:(11:1@=112pr)<
'(:".:pr =7 Zpy) <o 2p, < ci2p,
. (@) cls<c’Is<o2s<c” 2s<(ué;=nzpy]<
e =g <(="2p, =="2p, ) <"y,
I () ols<o Is<o2s<g’ 25{02;!2
: (=2p, =7 2p, ) <(x"2p, == ip;r]dﬁ. 2p,

b 4) cls<o’ e ] 25-:u
l

o zpz-ﬁ(anx:ﬂZpY]{( Fp, —n'ﬁpy]
k )
54 Which one is an example of(heterogenous

- catalysis?

ﬂ] Combination bgnvaa:; dinitrogen a:l:d
« dropm to form nia in the

" e of finely dmdeﬂﬁnnmlph
on of sulphur dioxidefinto ur

in ﬂ:ep:mu@ oxidea of

number of

l‘-'YH?';-

| 56

(3) CH;CH=CH-CH,

is true.
Both Statement 1 and Statement ll
are true. '
Both Statement 1 and Statement l‘l'
are false.

Statement I is true but Statemelt 1
is false.

(3
(4)

Consider the following reaction and identi
the product (P). 1
CH;-CH-CH-CH; 1
| i HBr , b oduct (PR

CH, OH N
3 - Methylbutan—-2 —ol . 2
1 g
(1) CH; *(l:—CHI Br ik

CH, ;
?r
(2) CH, —-?-—CH, ~CHy

CH,



w 'm:' - TICI
@) AICI> AlCly

HiC = C - CH =CH,
'H,C=CH-CH=CH,
o
® H,C.=C~ CH = CH,
H,C=CH-C=CH

the following statements are NOT
pgen is used to reduce heavy metal

vy water is used to study reaction
aecha ism.
pgen is used to make saturated fats
ils.
-H bond dissociation enthalpy is
as compared to a single bond
sen two atoms of any element.
gen reduces oxides of metals that
re active than iron.
most appropriate answer from
s given below :

is :

(1) mr @2) O
3) qu @ N

ld«@ﬂwpmductmﬂwﬁﬂhmnsmm

S0
N2Cl

(i) CuyBry /HBr
(i) M a' ether

(iii) H90

b

Product




s are listed below. Which
following belongs to

ﬁmmbthwmtwosmtemm one is
labelled as Assertion A and the other is
labelled as Reason R : .

Assertion A : In equation A (G =—nFE_,,
value of A .G depends on n,
‘Reasons R : Eccn is an intensive property
and A G is an extensive property.

‘hﬁchshlof!heabovemlemmm choose
th ect answer from the options given

e but R is true.
Rmmwkmﬂn

# -}(3} A,B,c anmmut

(4) A, B, C, E are correct.

Match List - I with List - I :
List- I List - 11 9
A. Coke I Carbon atoms

B. Diamond Il Usedasadry

C. Fullerene Ill. Usedasa

D. Graphite IV. Cage like
molecules

Choose the correct answer from the o

given below :

(1) A, B-IV, C-1, D-II
(2) A-ll, B-1V, C-I, D-II
(3) A-IV, B-L, C-I, D111
(4) A-llI, B-1, C-IV, D-I1

The relation between (n.."h '
of permissible vnlum of
number (m)) for a given value o

Quantum number (/), is

(1) li_- =/4+2

l-: | 5




(o)

¥

Mfmmkﬁvﬂl

in 0.

Inﬂnhghtoftheabovssutﬂnmﬂ.m

thecomctmswaf’ﬁomthnoptmglm

below :

(1) A is false butRls true.

(2) Both A and R are true and R is the
correct explanation of A. :

(3) Both A and R are true and R is NOT .--..1
the correct explanation of A. =

(4) A is true but R is false.

Weight (g) of two moles of the organic
compound, which is obtained by heating
sodium ethanoate with sodium hydroxide in
presence of calcium oxide is :

(1) 18 (2) 16
(3) 32 4 30

The given mmﬁound
CH=CH- ?H —-CH, CH,
5

is an example of




S ?h P:om uﬂdeleetmm are collectively
known as nucleons.

'E. Dalton’s atomic theory, regarded the
atom as an ultimate particle of matter.

Choose the correct answer ﬁ-om the options
given below :

(1) B, C and E only
(2) A, B and C only
(3) C, D and E only
(4) A and E only

77 Amongst the given options which of the
following molecules /ion acts as a Lewis

acid?
(1) OH- (2) NH;
(3) H,0 (4) BF;

78 The right option for the mass of CO,
produced by heating 20 g of 20% pure
limestone is (Atomic mass of Ca = 40)

[c,coll_mﬁ_,cm-pca,]

:u.’
(1) 1.32g 2) 1.12g
(3) 1.76g (4) 2.64¢
G5_English | n

; ’:wmmﬁmmm

(y
4
2 :,-.
T T3> T>T,
P
(2)
Tl
T,
ELN
vV—> 7 |
T.
B 3 T,
T 1
P
'(3) T3 > T._, = TI
N
1 Fi
W5
2T
T T,>T,>T,
P
(4) X T,
L5
L)
LY
Fa




_inhmnn body is an inert
and unchanging substance.

he conductivity of centimolar solution of

KC ‘at 25°C is 0.0210 ohm~' cm~! and the

resistance of the cell containing the solution

~ at25°C is 60 ohm. The value ofcell constant

. .

(1) 334 cm™!

- (3 328 cm™!

2

lis “The number of & bonds, 7t bonds and lone
~ pair of electrons in pyridine, respectively are:

X .l

.

@) 134 o
(4) 126 cm™!

e ) 12,2, 1 2 11,2, 0
;, 12, 3.0 4 11,3, 1

¥
below are two statements : one is
as Assertion A and the other is
d as Reason R :

A : A reaction can have zero
on energy.

8 R : The minimum extra amount of
‘absorbed by reactant molecules so
whmmeseqmlmthmhold
ght of the above statements, choose

tt answer from the options given

Aﬂ!ﬂﬂmﬂdﬂutﬁc
ullllﬁnnefA.

g lnmunhuor

of A,
ﬁﬂn.

85

-:4) a\hmhnh

{i Ll
—u—)ﬁm Prodnﬂ

sluih

()L
4) CH,;NC Tu%g_’ Product

Given I_:clow are two stalements : uneh
labelled as Assertion A and the other is
labelled as Reunn R: e

Assertion A : Metalhc sodium diﬂolmin T
liquid ammonia giving a deep blue solution,
which is paramagnetic. B
Reasons R : The deep blue solution is due
to the formation of amide. : 3t

In the light of the above statements, choose
the correct answer from the options given
below #

(1) A is false but R is true.

(2) Both A and R are true and
correct explanation of A.

(3) Bﬂlhdlllﬂltmtlubui
hmw




87

%mﬂplnni !lI MS-OH FourS-O.'

~ and 6 mol L1, respectively at 300 K. AG®
. for the reaction is (R =2 cal / mol K)

‘ Which complex compound is most stable?

-

acid  OneS-0-0-
2D, Sulphmwid IV. Two S-OH, Two S=0

Choose the correct answer from the options
given below :

(1) A-IIL, B—IV,;E-II, D-I
() A-L, BN, C-II, D-IV
(3) A-I, B-1V, C-1, D-Il
() A-L B-IL Ca1V, D-I

The equ:hbnum concentrations of the species
mthcmcunn A+EI-'-C+D are 2, 3, 10

(1) —13.73 cal
(3) —137.26 cal

(2) 1372.60 cal
(4) - 1381.80 cal

(1) [co(nm,), ] (s0,),
@ [CofnH,), (H0)8r](Noy),
3 [conmy), (voy),]
4) [cb'c;,.(enh]"'-"s

G5_English |

91

the coeflicients a, b and ¢

1)y 81,3 ) 1_. 33
e | ). 1, 8,38

¥
il 8§ =

Consider the following compounds/spe

sol¥s

i ||| iv.
A0

The number of compounds/species Wi
obey Huckel's rule is

L

(1) 5 Q) 4

@ 6 @) 2
Pumice stone is an example of -
(1) foam ?) s0l ‘
(3) gel () solid aol




4) CiHyg

Which of the following stateme
INCORRECT?

scandium form MO oxides whic
ionic.

corresponding to the group number
transition metal oxides is attained

30203 o MﬂzO-?. e e
Basic character increases from V.
V20‘ IO VZOS. 5 .

D.

salts.
E. CrO is basic but Cr,0; i
Choose the correct answer fi
given below :

(1) B and




o,

(3) A-@—Cbﬁﬂl—[mdﬂ =©1
(4) A-@-Cl-tzl and B=©— OH

The reaction that does NOT take place in a
blast furnace between 900 K to 1500 K
temperature range during extraction of iron

-

(1) CaO+8i0, — CaSiO,
(2) Fe,04 +CO— 2Fe0 +CO,
(3) FeO+CO—-»Fe+CO,

(4) C+CO,—»2CO

_English |

16

100

ol

Which amongst the following options is i-i,

correct relation between change in enthalpy
and change in internal energy? -
(1) AH+ AU = AnR o

(2) AH=AU- AngRT

(3) AH=AU + AngRT

(4) AH - AU =— AnRT .

Given below are two statements : N

Statement I : The nutrient deficient
bodies lead to eutrophication,
Statement II : Eutrophication leads 1
decrease in the level of oxygen in the '
bodies.
In the light of the above statements, chogs
the correct answer from the options gi
below :
(1) Statement I is incorrect but
Statement 1l is trye. .

Both Statement I and Statement i‘
are true,

Both Statement 1 and Statement N
are false,

Statement | is correct but
Statement 11 js false.

ail=

(2)
(3)
(4)

104

106



dif} tation
evelopment

 of species?
ctin ‘Om

tat loss and ﬁ‘agmentauon
exploitation for economic gain -

Which of

involves di

(1) Telcnpl:asc
O

110 During they purification p

111

recombinantyDNA technology, additi
chilled ethanol precipitates out it
(1) Polysaccharides (2) RNA

(3) DNA (v «(4) Histones

Family Fabaceae differs from Solanaceae
Liliaceae. With respect to the stamens,
out the chatacteristics specific to fa
Fabaceae but not found in Solanaceae
Liliaceae. "

(1) Epiphyllous and Dithecous antk

*(2) Diade

(3) Polyadelphous.and epipetalous s
4) Monnpd_elphous and Mono

amh%




2 Zy
(4) Dipiotene

The thickness of ozone in a ¢olumn of air in
the atmosphere is measured in terms of :
(1) Kilobase (2) Daobson units

(3) Decibels (4) Decameter

The reaction centre in PS II has an absorption
maxima at

(1) 780 nm
(3) 700 nm

116

(2) 680 nm
(4) 660 nm
117 Given below are two statements : One is
labelled as Assertion A and the other is
labelled as Reason R :
Assertion A : The first stage of gametophyte
in the life cycle of moss is protonema stage.
Reason R : Protonema develops directly
from spores produced in capsule.
In the light of the above statements, choose
the most appropriate answer from the
options given below :
(1) A is not correct but R is correct.
(2) Both A and R are correct and R is the
correct explanation of A.
#(3) Both A and R are correct but R is NOT
the correct explanation of A.
,(4) A is correct but R is not correct.

118 What is the role of RNA polymerase III in
the process of transcription in Eukaryotes?
(1) Transeription of only snRNAs
(2) Transcription of rRNAs (28S, 18S and

5.8S)
(3) Transcription of tRNA, 5 srRNA and
snRNA
_ (4) Transcription of precursor of mRNA

121

122

120 The phenomenon

of plciotrOPiﬁfﬂ :
affecting

(1) more than two genes
character.

presence of several alleles of a sin
2 controlling a single
(3) presence of two alleles, each of the ty
genes controlling a smgl.e trait. 5

(4) a single gene 3ff3°““g mul P
phenotypic expression.

LSS0

Spraying of which of lhfi following
phytohormone on juvenile conifers hel
hastening the maturity period, that leads i
early seed production?

. (1) Abscisic Acid
(2) Indole-3-butyric Acid
(3) Gibberellic Acid
(4) Zeatin

Given below are two statements :
Statement I : The forces generated by
transpiration can lift a xylem-sized colum
of water over 130 meters height. 1
Statement II : Transpiration cools leaf
surfaces sometimes 10 to 15 degrees. by
evaporative cooling. '
In the light of the above statements, choose §
the most appropriate answer from the |
options given below : 3
(1) Statement I is incorrect but
Statement II is correct.
+(2) Both Statement I and Statement Il
are correct, ,
(3) Both Statement 1 and Statem: e 11
are incorrect, il
(4) Statement I is correct but




-i_'

m of ﬂ:e root system.
of the al:ove statements, chonse

~ (2) Both m'hemenl 1 and Sl-llunent n
are true.

= (3) Both Statement I and Statement lI

are false.
) Statement I is correct but
Statement II is false.

Wh;ch micronutrient is required for splitting
ater molecule during photosynthesis?

. pper (2) manganese
olybdenum (4) magnesium

ow are two statements : One is
as Assertion A and the other is
as Reason R :

A : ATP is used at two steps in

-+ First ATP is used in converting
. _glucuse-ﬁ-phosphate and second
sed in conversion of fructose-6-
- into fructose-1-6-diphosphate.

“answer ﬁ'om the options given

Asserﬂon

elements | w1th NArrow vessels. -

Reason R : Cambium is leq.s _

winters.

In the light of the above statements, ¢

- the currect answer from the opuon%

below : -

-(1) A-is' false but R is true.

(2) Both A and R are true and R i
correct explanation of A.

(3) Both A and R are true but R
‘the correct explanation of A.

(4) &lsmbutﬂlsfals&

129 In angiosperm, the hnpluid'




* is Net Primary Pmdumwt}'
“‘h iue is

{1) Reproductive a]]ocahon ;
- (2) Photosynthetically active radiation
(3 Respiratory quotient

(4) Respiratory loss

% l,«azs an:wed Sequence Tags (ESTs) refers to
(1) Certain important expressed genes.
(2) All genes that are expressed as RNA.
*(3) All genes that are expressed as proteins.
(4) All genes whether expressed or
unexpressed.

134 Among eukaryotes, replication of DNA takes
- place in -
(2) M phase

(1) G, phase
() Sphase  (4) G, phase

_mmﬁhﬂdmadwmmdmalwn
4 into luut cells, microparticles of

EZ; BothAaﬂdR""mm
mgxptananonof!l
3) Both A and R are true but R
the correct explanation of A.

(@) Ansuuebmlllsfalse

ist I with List IT :

o g:ttc;l 5 List IT
(Interaction) (Species A and |
A. Mutualism L. +(A), O(B)
B. Commensalism II. —(A),
C. Amensalism 1. +(A).
D. Parasitism IV. +(A).
Choose the correct answer from the op
given below :
(1) A-III, B-I, C-IV., D-Il
(2) A-IV, B-IL, C-1, D-III
“(3) A-lV, B-1, C-II, D-IIl
(4) A-IV, B-II, C-1, D-1I

138 Match List I with List 1 :

LIS[I L“t“
A. Cohesion [

liquid phase

B. Adhesion 1. Mutual a

Morea-"-'



synthase
IL.  Pyruvate
dehydrogenase

III. Electron

transport system
IV. EMP pathway

- phosphorylation e
'D. Tricarboxylic
acid cycle
- Choose the correct answer from the options
- w below :

(1) A-IL. B-IV, C-lIL. D-I
. (@ AL BV, C-II, DI
. (3 AL BAIV, C-I, D-II
. (4) AL B-L C-II DIV

 the correct statements :
pels are the lens-shaped openings
ting the exchange of gases.

ed early in the season is called | 144

. is a technical term that refers to
pes exterior to vascular cambium,

sfers to periderm and secondary

pen is single-layered in thickness.
correct answer from the options

145

20

(1) Aand Eonly (2)- A and B only

development is retarded.
E. Such individuals are sterile.
Choose the correct answer from the optior
given below @ ;

(3) C and D only (4) B and E only

Mainstepointhefoﬂmtionoﬂtwnmbiﬂll
DNA are given below. Arrange these steps
in a correcl sequence.

A. Insertion of recombinant DNA into the

host cell.

'B. Cutting of DNA at specific location by

restriction enzyme.

C. Isolation of desired DNA fragment.

D. Amplification of gene of interest using
PCR.
Choose the correct answer from the options

given below :
(1) B,D,A,C (2) B,C,D, A
3 C,ABD .4 CB DA

Which of the following combinations is
required for chemiosmosis?

(1) proton pump, electron gradient,
NADP synthase

membrane, proton pump,

proton gradient, ATP synthase
membrane, proton pump,

proton gradient, NADP synthase
proton , electron gradient
ATP synpuﬂ:lre

How many different
ribosome consist of?
(1) 20 (2) 80
@) 60 ) 40

(2)
(3)
(4)

EEEAP I




& 1
.[ | e Corret explanation of A.
-3 Both A and R are true but R is NOT
I_ P‘E"f" ot the correct explanation of A.

(4) A is true but R is false,

E 147 Match List I with List 11 -

'.‘-_-I-:.I T_‘._*_b . List I List 11
E ~A. M Phase L Proteins are "’
synthesized
NS G, Phese 0 Inactive phase
C. Quiescent III. Interval between
siage mitosis and
initiation of DNA
= . replication
D. G;Phase IV. Equational
division
Choose the correct answer from the options
given bclqw :

(1) AL B-IV, C-1, D-II
- (2) AL B C-IV, DAl
'{j AV, BIL C-1, Dl

21

149

150

.(2) Both Statement 1

belGW ¢ 1 is incorrect but

(N 's“"""m"'t Il is true.

3) Bothu-gnment I and St:u
are false. "'

Suu-ment 1 is correct but
(4) Sﬂlﬂnﬂ“ 11 is false.

Which one of the following state
rrect?

ﬁ?rl'hcg amount of some toxic s
of industrial waste water in
the organisms at successive
levels. 1 :
The micro-organisms involve
biodegradation of organic mal
sewage polluted water body ca
lot of oxygen causing the deal
aquatic organisms. 3
Algal blooms caused by ex
organic matter in water impro
quality and promote ﬁsheﬁes. 3
Water h}ra(.‘,ll'llh gt‘()ws abundant
eutrophic water bodies and lea
imbalance in the ecosystem d
of the water body.

Match List T with List ll
List I

A, Tron e 1

B. Zinc

(2)

(3)

(4)

C. Boron
D. Molybdenum

:-Il B-lv C-1, D-111

1 C"‘L D"N
III, C-lv, D-l
B-l, C.y,




nination is one of the strategies of
productive and Child Health Care

11=H

Reason R: Ban on amniocentesis checks
increasing menace of female foeticide.

j_. the light of the above statements, choose
the correct answer from the options given
~ below:

. (1) A is false but R is true.

~ (2) Both A and R are true and R is the
¢ correct explanation of A.

Both A and R are true and R is NOT
the correct explanation of A.

(4) A is true but R is false.

()

i ':'\'qu”_- T

; Vital capacity of lung is
& .(1) IRV+ERV+TV
(2 RV +ERV

~ (3 IRV +ERV + TV +RV
. (@) IRV +ERV + TV -RV

datch List I with List IL

P Last1 ListII
- A P-wave . Beginning of systole
. Q-wave [I. Repolarisation of

. ventricles
- C. QRS complex 1L Depolarisation of atria
" D . T-wave IV. Depolarisation of

: ventricles
Choose the correct answer from the options
given below:

() A, B C-II DIV
@) AL B C-IV, DI

on A: Amniocentesis for _sex' »

consists of 4 subunits (two subunits

type and two subunits of f type.)

In the light of the above statements, Choose:

the correct answer from the options given

below:

(1) Statement I is false but Statement 11
is true.

(2) Both Statement I and Statement 11

are true.
(3) Both Gtatement I and Statement Il
false

(4) Statement I is true but Statement IT
is false. -

155 Which of the' following functions 1S carried
out by cytoskeleton 1n a cell?
(1) Transportation
(2) Nuclear division
(3) Protein synthesis
. (4) Motility

156 Select the correct group/set of Australian
Marsupials exhibiting adaptive radiation.
(1) Lemur, Anteater, Wolf
(2) Tasmanian wolf, Bobcat,
Marsupial mole
(3) Numbat, Spotted cuscus,
Flying phalanger
_(4) Mole, Flying squirrel,
Tasmanian tiger cat

157 Given below are two statements:
Statement I: RNA mutates at a faster rate.
Statement II: Viruses having RNA genome
and shorter life span mutate and evolve
faster.

In the light of the above statements, choose

the correct answer from the options given

below: :

(1) Statement 1 false but Statement Il
is true.

. (2) Both Statement I and Statement Il

are true.

(3) Both Statement | and Statement 11
are false,

(4) Statement 1 is true but Statement Il
is false.

gg) A-IV, B-1II, C-I1, D-1
(@) AL BV, C-L DL

oF . o
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he purpose of carly dingnosts of

@ disease for its early treatment?
m Ei:zymethk‘ad:ltdmlmo-sbrbenmsmy
(2) Recombinant DNA Technology
~{3) Serum and Urine analysis
(4) Polymerase Chain Reaction (PCR)
technique

160 Given below are statements: one is labelled

Assertion A and the other is labelled as
Reason R.
Assertion A: Nephrons are of two types:
Cortical & Juxta medullary, based on their
relative position in cortex and medulla.
Reason R: Juxta medullary nephrons have
short loop of Henle whereas. cortical
nephrons have longer loop of Henle.
In the light of the above statements, choose
the correct answer from the options given
below:
(1) A is false but R is true.
«(2) Both A and R are true and R is the
correct explanation of A.
(3) Both A and R are true but R is NOT
the correct explanation of A.
(4) A is true but R is false.
R

th one of the following common
 transmitted diseases is completely

23

(3) Arand
4) A¢Band C
Given %ow are two statements:
Statement I: Low temperature prese:
enzyme in a temporarily inactive
- .gh mmm -1r.
activity{because proteins are denatu
heat. = 3 : :
Statement II: When the inhibitor ¢
resembles the substrate in its mo
structure and inhibits the activity
enzymie, it is known as competitive ink
In the light of the above statements, ¢
the correct answer from the options AT
below:
(1) Statement I is false but Statem _
is\ thue.
(2) Both Statement I and Statement I
arg_true. :
(3) Both Statement I and Statement
mTaISﬂ. ‘

'(4) Statement I is true but Stat

isfalse.
Match_ List I with List I1.




: The cavity ofthe cervix is’ 3) Both A and R are true
canal which alog with vagina 5 the correct explanation
(4) A is true but R is false.

Match List I with List IL.
<t List 1
.Shtule-t 1 incorrect but;Statement 11 S e
is true. ~ e
" 2) Both Statement I and Statement 11 R
A . Gene ‘1’
& . Gene''z®
. &::tunelt 1 and Statement II Chiohat W adirect from the
3 L given below:
Statement :l'-': ";’5‘“"% (1) AAIL B-I, C-IV, D-II
 cuinesedomt (2) AL, B, C-IV, D-III
B List T with List I1. & (3) A-IL, B-III, C-IV, D-I
; L@ (4) AL, B-IV, C-1, D-II

are true. (o8

Which of the following is not
vector?

(1) Probe )

(3) YAC [O))




List I1

(Found between)

I.  Between flat
skull bones

II.  Between adjacent
vertebrae in
vertebral column
Between carpal

25

_given below:

(1) A-II, B-1, C-IIL, D-IV
(2) A-I, B-L, C-IV, D-II
(3) AV, BIII, C-IL DI
(4) A-L B-IV, C-IIL, D-II

Given below are two statements:

Statement I: Ligaments are deme
irregular tissue.

Statement II: Cartilage is dense regu
tissue,

‘In the light of the above statements,

the correct answer from the o
below:

(1) Statement 1 mfa]sebn
is true.




| lﬂl

3) A-IL B-IV, C-II, D-1
AL B-IIl, C-1, DIV

: Liltl List 11

(Interacting (Name of
species) Intéraction)
A. AlLeopardand a I.  Competition
. Lionin a forest/
: B. A Cuckoo laying II. Brood
ege ina Crow's nest parasitism

C. Fungiandrootofa II. Mutualism
higher plant in

Mpycorrtizae

'D. Acattleegretand  IV. Commensalism | g7
_' a Cattle in a field

~ Choose the correct answer from the options
:. @ven below:

(1) A-I, B-lIIL, C-I, D-IV

s,qz} A-l, B-1I, C-III, D-1V

(3) A-l, B-lI, C-1V, D-II

 (4) A-IIL, B-1V, C-1, D-II

. Match List 1 with List IL

List I List 11

Ringworm (1. Haemophilus influenzae
. Filariasis \J/ 1. Trichophyton

, Malaria . Wuchereria bancrofti

. Pneumonia "IV, Plasmodium vivax .
 Choose the correct answer from the options
Il'--_,J!' n below:

(1) A-III, B-11, C-IV, D-I

(2) A-lL,B-lII, €-1V, D-1

=11, B-IlI, C-1, D-IV

111, B-11, C-I, D-IV
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Given below m-“ :
Statement I: Electrost
most widely used in thermal pe
Statement 11: Electrostatic precip
thermal power plant remam
mdinltons
In the llﬂhl. of the above alamenu, \
the most appropriate answer from the =
options given below: A
(1) Statement I incorrect but Statement 11
is correct.
(2) Both Statement I and Statement 1l
are correct,
(3) Both Statement I and Statement 11
are incorrect, |
(4) Statement 1 is correct but o
Statement 11 is incorrect. L e

Given below are two statements:
Statement I: In prokaryotes, the positively
charged DNA is held with some negatively
charged proteins in a region called nucleoid.
Statement II: In cukaryotes, the negatively
charged DNA is wrapped around the
positively charged histone octamer to form
nucleosome.
In the light of the above statements, choose
the correct answer from the options given
below:
(1) Statement I incorrect but Statement 11
is true,
(2) Both Statement | and Statement 11
are {rue.

(3) Both Statement | and Statement 11
are false,

(4) Statement I is correct but
Statement 1 is false.

'.'-!'" ik 1Y
o e



: successive trophic levels,

(4) Presence of Jarge amount of nutrients

in water restricts ‘Algal Bloom®

184

as the part of endomembrane system?

A. Mitochondria B. Endoplasmic
Reticulum

C. Chloroplasts . Golgi complex
E. Peroxisomes

Choose the most Appropriate answer from

the options given beloyy-
(1) A, D and E only
(2) B and D only

(3) A.Cand E only
4) Aand D only

185 Match List I with List I1.
List I List IT
(Cells) (Secretion)
A. Pepticcells 1. Mucus
B. Goblet cells 1I. Bile juice
C. Oxyntic cells 1I1. Proenzyme pepsinogen
D. Hepatic cells IV. HCland intrinsic factor
for absorption of
vitamin B, ,
Choose the ebmdanswerﬁ'omﬂwopﬁons
given below:
(1) A-IL, B-1V, C-1, D-IlI
@) A-IV, B-IIL, C-II, D1
(3) A-II, B-L, C-IIL, DIV

T RAgHE T 7

27

tfication refers to increase in-
concentration of the toxicant at

) It decreases homozygo
(3) It exposes harmful rece

(4) Elimination of less dﬁil'ﬂ
accumulation of superior |
place due to it.

187 In cockroach, excretion is brought
A. Phallic gland B. Urecose glang
C. Nephrocytes D. Fat body
E. Collaterial glands ]

Choose the correct answer from the optior
given below:

(1) B and D only

(2) A and E only
~(3) A,Band E only

(4) B, C and D only

»

188 Which one of the following is the sequei
on corresponding coding strand,
sequence on mRNA formed is as fol o
3" AUCGAUCGAUCGAUCGAUCG
AUCG AUCG 3'? =
(1) 3' ATCGATCGATCGATCGATEG

ATCGATCG 5° i

@ 5 UAGCUAGCUAGCUAG CUA
GCUAGC uagc 3° %

@) UAGCUAGCUAGCUAGCUA
~ GCuaGey i




‘age is largest followed
by reproductive and
post reproductive

age groups

f D. Stableage IV, The percent individuals

pyramid of pre-reproductives
and reproductive age
group are same

Choose the correct answer from the options
given below:

(1) A-II, B-IV. C-MII, D-I
(2) A-IL, B-I, C-III, D-IV
. (3) A-II, B-IIL, C-1, D-IV
() A-II, B-IV, C-I, DI

)0 Match List T with List II.
List1 List 11

A. Mast cells I.  Ciliated epithelium
. Innersurface 1. Areolar
- ofbronchiole connective tissue
C. Blood IIl. Cuboidal epithelium
D. Tubularparts IV. specialised
- ofnephron connective tissue
Choos the correct answer from the options
give below:
(1) A-I, B-IV, C-II, D-I
A-l, B-II, C-IV, D-II
~A-Il, B-III, C-1, D-IV

ﬂ:uneutll’

(3) Both Statement I and S
are incorrect. :
(4) Statement I is correct but
Statement II is incorrect.

Which of the following statements

correct 7 ;

A. Basophils are most abundant cells
the total WBCs

B. Basophils secrete histamine, serotonin
and heparin ]

C. Basophils arc involved in inflammatory
response

D. Basophils have kidney shaped nucleus

E. Basophils are agranulocytes

Choose the correct answer from the options

given below:

(1) AandBonly (2) D and E only

(3) Cand E only (4) B and C only

Which of the following statements are

correct?

A. An excessive loss of body fluid from
the body switches off osmoreceptors.

ADH facilitates water rcabsorphon to
prevent diuresis, '

ANF causes vasodilation.
ADHcaususumrusemhloodpmm.r
é]f?]:-l is responsible for decrease in !
Choose the correct answer from lheoﬁ
given below:

(1) C,Dand E only

(2) A and B only

(3) B, C and Dﬂnl;r

: .—

:m %PA. Baanr.l-"B o




‘Wi:ich of the following state

correct regarding skeletal muscle?

A. Muscle bundles are held tog
collagenous connective tiss
called fascicle. 3

o
il Sarcoplasmic reticulum of muscle §

Striated appearance of skeletal muse
hromatig - fibre is due to distribution pattem g
Terminalization takes place during actin and myosin proteins. 3
o et R e | D (00 Seent o T

reformed during Telophase.

Crossing over takes place between sister Choose the most appropriate answer fro

chromatlds of hanIOgous : the options given below: "
(1) C and D only

(2) A, B and C only
(3) B and C only

@) A and C only 2 it |
@ A and C oy (4) A, C and D only :
4) A,Cand E only i

Which of the following are NOT.unde

The parts °‘f human brain that helps in control of thyroid hormone? :
Iﬂgllhlg on of sexual behaviour, expression A. Maintenance of we .
of excitement, pleasure, rage, fear etc. are : balance O Water and icicey P
(1) Corpus callosum and thalamus 1 ‘
4 gg Limbic system & hypothalamus
Corpora quadrigemina & hippocampus
(4) Brain stem & epithalamus -

(1) pinna, monocondylic skull and
mammary glands
(2) hairs, tympanic membrane and
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